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Third Sem. 3 Yr. LL.B./Seventh Sem. 5 Yr. B.A. LL.B. (Maj.-Min.-System)/
B.B.A.LL.B./Tenth Sem. 5 Yr. B.A.LL.B/B.B.A.LL.B./Sixth Sem. 3 Yr. LL.B.
Examination, June/July 2019
LAW OF TAXATION
(Old and New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions |
carry 16 marks each. !

3. Answers should be written either in English or Kannada !
completely. |

Q. No. 1. Define “Income” and explain the concept of income. Marks : 16
“eﬁmojo”ddgt WYYAND ToMR STRODT WOTVFCDTY, QFOR0.

Q. No. 2. Define the term “Salary”. State items under the head salary. Marks : 16
“5@35'%;&3{ LOYRR 303 BeSIT RCDY, WIBB @o@ﬁﬁ#ﬁl
QRO

Q. No. 3. What is meant by business and profession ? What incomes
are chargeable to income tax under the head profits and
gains of business or profession ? Marks : 16

T BB F@ onBen ? CIRD DOBRTB, TRTTC W
R3oh wogd oIy ned SeFFODRONY HORNT 3071 TIBUBITD ?

Q. No. 4. Explain the power of the Commissioner of Income Tax to
reduce or waive penalty under |.T. Act. Marks : 16

S0 oK PRI BVRONG. BB BRI JBREELY T
WOT, BRBO TR FOR BOIVTOR [T LRFTNER), QO[O

Q. No. 5. Discuss the provisions of residential status of different
assessees under Income Tax Act, 1961. Marks : 16

RoSRS o1t 5903, 19618 @R NG Zorcdd s
m@aﬂd 0B [IOB ROWOTNR), 233 2.
P.T.O.
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Q. No. 6. Explain the procedure for clearance of imported goods from
the Port under Customs Act, 1962. Marks : 16
deofyead ERP A003, 1962 0B 008 [RNTRY, LOBOROT
SETIRPNRYROT WANS OB é’;)@dr{%fa’% DD,

Q. No. 7. What is CGST and SGST ? Explain the salient features of
GST. Marks : 16
deors, RTTT @R0Es BOT TN 0oL, A0FIT SIR0ES 3on
30038630 7 WARTLIOD T[IND MOEDOFLNTT, QTORD.

Q. No. 8. Write note on any two of the following : Marks : 2x8=16
3SNS CIRPTRTTR HTERY, B0 e 2000

a) Previous Year
HODD WAF

b) Constitutional provisions relating to GST
23R8 ROWOPAT RODTITIS VB0

c) Defective returns.
eirae@’@% ei%ds% .

Q. No. 9. Solve any two of the following : Marks : 2x10=20
FENS CIRT)TEONR HTBY, LINTDOR

a) A person has sustained a loss of Rs. one lakh in his

speculative business. He wants to claim set-off of this loss
from his income of Rs. thirty thousand received under the
head income from house property. Will he be allowed to do
so under the law ? Decide with reasons.
WL TTROBY, e, [N OR. 2000 ©F TORCIRNIBE,
é@‘cﬁa DoBB) AT  TRIPOL TFTIRACD STODNT. B3
ma)odaabq maﬁ% 232305383, BRTED faaggmao_ﬁ. TN TN
BRELO FOREIT JFIT WS [uede ? FETLNLRONN
DR DRD.
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b) A, while travelling in KSRTC bus, meets with an accident
and is temporarily disabled. KSRTC pays an amount of
Rs. 10,000/- as compensation to him. State whether the
amount is revenue receipt or capital receipt.

o030 FRRTESOUR WARY TodwedRITRR REygERgON
BoT,OBN WONGFYE WIMPNIRE. FHRTLTTLRA0ID “o"' 1
®3) MNT BR. VOO cﬁaﬂda’% QeBFT. AW B0
TRQOE LT WOBIF TRHOIE EVA.

c) ‘A’ company is formed solely to do the business of building
houses and letting them on rent. Is this income of the
company taxable, if so under what head of the income ?

TIP3 AR EREEE F[E0 WREE enugdeaisNode
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